
1.134 LI N E A R AC T U AT O R:  A I R CY L I N D E R

SE R I E S C95

FOR FURTHER TECHNICAL
DETAILS ON THIS
PRODUCT REQUEST
CATALOG REFERENCE
N306

MODEL TYPE LOAD VOLTAGE
LOAD

CURRENT
POWER
SOURCE

INTERNAL
VOLTAGE

INDICATOR
LAMP

D-A53L REED 24VDC 5~50mA - 2.4V or less
ON:Red

L.E.D

D-A54L REED
24VDC

100VAC
200VAC

5~50mA
5~25mA

5~12.5mA
- 2.4V or less

ON:Red
L.E.D

D-A64L REED
24VDC/AC OR LESS

100VAC
200VAC

MAX 50mA
MAX 25mA

MAX 12.5mA
- 0 NONE

D-F59L
3 WIRE

SOLID STATE NPN
28VDC  OR LESS MAX  450mA 5~24VDC 1.5V or less (0.8V or less

at 10mA of Load Current)
ON:Red

L.E.D

D-F5PL
3 WIRE

SOLID STATE PNP
- MAX  80mA 5~24VDC 0.8V or less

ON:Red
L.E.D

D-J59L
2 WIRE

SOLID STATE
10~28VDC 5~ 40mA - 4V or less

ON:Red
L.E.D

ACCESSORIES

AUTO SWITCHES

MORE ACCESSORIES

S E E N E X T P A G E ☞

AI R CY L I N D E R SE R I E S C95
Ø32–100M M

Con fo rms  t o  VDMA24562 ,  I SO6431 ,  D IN  &  CETOP
Magne t i c  Au to  Sw i t ch  Op t i on s
U l t r a  Low  F r i c t i on
Imp roved  Re s i s t ance  t o  S i de  Load ing  *
Non -Ro ta t i ng  P i s t on  Rod  Op t i on
Imp roved  Cush i on i ng  E f f i c i en c y
Th rough -Rod  Type  Ava i l ab l e
*Fo r  c a l cu l a t i on  o f  s i d e  l oad i ng ,  
p l e a s e  con su l t  SMC Cus tome r  Se r v i c e

H O W T O

O R D E R

C 9 5  A I R C Y L I N D E R S

C95 B

S ……Bas i c
K ……Non-Ro ta t i ng

P I S T O N R O D

- ……Bas i c
D ……Magne t i c

P I S T O N

32
40
50
63
80
100

B O R E I N M M

25 ,  50 ,  80 ,  100
125 ,  160 ,  200 ,  250
320 ,  400 ,  500
Fo r  l onge r  s t roke s ,  p l e a s e
con ta c t  SMC Cus tome r  Se r v i c e

S T A N D A R D S T R O K E I N M M

See  Acce s so r i e s  S e c t i on

A P P L I C A B L E A U T O S W I T C H

Non-Rotating

Construction – Aluminum
Barrel – Anodized Aluminum
Piston rod – C45 Hard Chrome
Ø32 - Non Rotate, Stainless
Steel Piston Rod

P i s t on  D i ame te r  (mm) ……………………32 ………………40 ……………50 ……………63 ……………80 …………100
P i s t on  Rod  D i ame te r ……………………12 ………………16 ……………20 ……………20 ……………25 ……………30
P i s t on  Rod  Th read ……………………M10x1 .25 ……M12x1 .25 ……M15x1 .5 ……M15x1 .5 ……M20x1 .5 ……M20x1 .5
Po r t  S i z e  (G  o r  NPT ) ……………………1/8 ……………1/4 ……………1/4 ……………3/8 …………3/8 …………1/2
Cush ion i ng  S t roke  (mm) ………………19 ………………19 ……………24 ……………24 ……………30 ……………30
Max  S t anda rd  S t roke  * …………………500 ……………500 ……………500 ……………500 …………500 …………500
F lu i d ………………………………………………………………Compre s s ed  A i r  F i l t e red  t o  <  10  m i c ron
Max imum Work i ng  P re s su re ……………………………………0.05  -  1  MPa  /  7~145PS I
Work i ng  Tempe ra tu re …………………… ………………… -10 ˚C  t o  +  60 ˚C  /  14~140 º F
Moun t i ng  Po s i t i on ……………………………………………………………Any
P i s t on  Speed ……………………………………………………50 -  1000  mm/ s   /   2~40 in / s
S t anda rd  S t roke s  (mm) ……………………25,50 ,80 ,100 ,125 ,160 ,200 ,250 ,320 ,400 ,500
(D IN  I SO  4393 ) ……………………………othe r  s t roke  l eng th s  i n  a c co rdance  w i t h  I SO  497  R10
S t roke  To l e r ance …………………………………………………< 250mm :  +  1 .0  /  0mm
…………………………………………………………………………<1000mm :  1 . 4  /  0mm
*Fo r  l onge r  s t roke  l eng th s  s ee  ”How to  O rde r”

T E C H N I C A L

SPECIFICATIONS

D I M E N S I O N S

S E E N E X T P A G E ☞

- ……S ing l e  Rod
W ……Through  Rod

R O D T Y P E

Through Rod

S Y M B O L S

Double Action

ACCESSORIES

AUTO SWITCH

TIE ROD MOUNTING BRACKETS

BT-03 ………Ø32 /Ø40
BT-05 ………Ø50 /Ø63
BT-06 ………Ø80 /Ø100

- ……Both  End s
N ……None
H ……Head  End  On l y
C ……Rod  End  On l y

A I R C U S H I O N

- ……2 P i e ce s
S ……1 P i e ce
n ……n P i e ce s

N O O F S W I T C H E S

- ………G Po r t
XC18 …NPT  Po r t s

O P T I O N

M A D E I N USA

Note: Pre-wired Switches with 3/4 Pin Connectors
available, please consult SMC Customer Service

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Courtesy of Steven Engineering, Inc.  ! 230 Ryan Way, South San Francisco, CA 94080-6370 ! Main Office: (650) 588-9200 ! Outside Local Area: (800) 258-9200 !  www.stevenengineering.com 



1.135LI N E A R AC T U AT O R:  A I R CY L I N D E R

SE R I E S C95

FOR FURTHER TECHNICAL
DETAILS ON THIS
PRODUCT REQUEST
CATALOG REFERENCE
N306

S E E I N S I D E F R O N T C O V E R F O R

DETAILS OF YOUR LOCAL SALES OFFICE

Bore

F
Flange incl. bolts & washers

D
Female Rear Clevis incl. bolts & washers

C
Male Rear Clevis incl. bolts & washers

32
40
50
63
80

100

F5032
F5040
F5050
F5063
F5080
F5100

D5032
D5040
D5050
D5063
D5080
D5100

C5032
C5040
C5050
C5063
C5080
C5100

L
Foot (two pieces)

T
Trunnion

E
Angled Rear Clevis Foot

Bore

32
40
50
63
80

100

L5032
L5040
L5050
L5063
L5080
L5100

A trunnion type must be ordered as part of
the cyl inder assembly by substituting 'T' for

'B' in the part number.

E5032
E5040
E5050
E5063
E5080
E5100

Bore

GKM
Rod Clevis

KJ
Piston Rod Ball Joint

JA
Floating Joint

32
40

50/63
80/100

GKM10-20
GKM12-24
GKM16-32
GKM20-40

KJ10DM10x1.25
KJ12DM12x1.25
KJ16DM16x1.5
KJ20DM20x1.5

JA30-10-125
JA40-12-125
JA50-16-150

JAH50-20-150

D I M E N S I O N S

S E E N E X T P A G E ☞

ACCESSORIES

C 95 REPAIR KITS

Bo re P i s t on  Rod  Nu t Sea l  K i t  (N i t r i l e ) S ea l  K i t  (H i gh  Temp ’ ) Sea l  K i t  Non - ro t a t i ng )
32 M10  x  1 . 25 CS95 -32 CS95 -32 -XB6 CSK95 -32
40 M12  x  1 . 25 CS95 -40 CS95 -40 -XB6 CSK95 -40
50 M16  x  1 . 5 CS95 -50 CS95 -50 -XB6 CSK95 -50
63 M16  x  1 . 5 CS95 -63 CS95 -63 -XB6 CSK95 -63
80 M20  x  1 . 5 CS95 -80 CS95 -80 -XB6 CSK95 -80
100 M20  x  1 . 5 CS95 -100 CS95 -100 -XB6 CSK95 -100

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Courtesy of Steven Engineering, Inc.  ! 230 Ryan Way, South San Francisco, CA 94080-6370 ! Main Office: (650) 588-9200 ! Outside Local Area: (800) 258-9200 !  www.stevenengineering.com 



1.136 LI N E A R AC T U AT O R:  A I R CY L I N D E R

SE R I E S C95

FOR FURTHER TECHNICAL
DETAILS ON THIS
PRODUCT REQUEST
CATALOG REFERENCE
N306

D I M E N S I O N S

B A S I C C Y L I N D E R

Diameter AM ØB ØD EE PL RT L12 KK SW G BG l8 VD VA WA WB WH ZZ ZY
32 22 30 12 G1/8 13 M6 6 M10X1.25 10 27 16 94 4 4 4 6.5 26 146 190
40 24 35 16 G1/4 14 M6 6.5 M12X1.25 13 27 16 105 4 4 4 9 30 163 213
50 32 40 20 G1/4 15.5 M8 8 M16X1.5 16 31.5 16 106 6 4 5 10.5 37 179 244
63 32 45 20 G3/8 16.5 M8 8 M16X1.5 16 31.5 16 121 6 4 9 12 37 194 259
80 40 45 25 G3/8 19 M10 10 M20X1.5 21 38 16 128 8 4 11.5 14 46 218 300
100 40 55 30 G1/2 19 M10 10 M20X1.5 21 38 16 138 8 4 17 15 51 233 320

Diameter E R L2 L9
32 46 32.5 15 4
40 52 38 17 4
50 65 46.5 24 5
63 75 56.5 24 5
80 95 72 30 5
100 114 89 32 5

D I M E N S I O N S

R E A R M A L E C L E V I S -  C

Diameter Model No C type Model No D type E1 EW TG1 FL l1 L l2 Ød1 CD MR d2 R1 E2 UB CB
32 C5032 D5032 45 26 32.5 22 5 12 5.5 30 10 0.5 6.6 6.5 48 45 26
40 C5040 D5040 51 28 38 25 5 15 5.5 35 12 12 6.6 6.5 56 52 28
50 C5050 D5050 64 32 46.5 27 5 15 6.5 40 12 12 9 8.5 64 60 32
63 C5063 D5063 74 40 56.5 32 5 20 6.5 45 16 16 9 8.5 75 70 40
80 C5080 D5080 94 50 72 36 5 20 10 45 16 16 11 11 95 90 50
100 C5100 D5100 113 60 89 41 5 25 10 55 20 20 11 12 115 110 60

MORE DIMENSIONS

S E E N E X T P A G E ☞

R E A R F E M A L E C L E V I S -  D

D I M E N S I O N S

C 9 5 S B Ø - H U B -  W

Diameter AM ØB ØD EE PL I12 KK SW G BG I8 VD WH ZY I2 I9
32 22 30 12 G1/8 13 6 M10x1.25 10 27 16 94 4 26 190 15 4
40 24 35 16 G1/4 14 6.5 M12x1.25 13 27 16 105 4 30 213 17 4
50 32 40 20 G1/4 15.5 8 M16x1.5 16 31.5 16 106 6 37 244 24 5
63 32 45 20 G3/8 16.5 8 M16x1.5 16 31.5 16 121 6 37 259 24 5
80 40 45 25 G3/8 19 10 M10x1.5 21 38 16 128 8 46 300 30 5
100 40 55 30 G1/2 19 10 M20x1.5 21 38 16 138 8 51 320 32 5

=(2Y + 2 x Stroke)

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Courtesy of Steven Engineering, Inc.  ! 230 Ryan Way, South San Francisco, CA 94080-6370 ! Main Office: (650) 588-9200 ! Outside Local Area: (800) 258-9200 !  www.stevenengineering.com 



1.137LI N E A R AC T U AT O R:  A I R CY L I N D E R

SE R I E S C95

FOR FURTHER TECHNICAL
DETAILS ON THIS
PRODUCT REQUEST
CATALOG REFERENCE
N306

S E E I N S I D E F R O N T C O V E R F O R

DETAILS OF YOUR LOCAL SALES OFFICE

D I M E N S I O N S

P I S T O N R O D C L E V I S -  G K M :  S T E E L ,  Z I N C C H R O M AT E P L AT E D

Cyl. Diameter Model No e b d Øf g c j a
32 GKM10-20 M10X1.25 10 40 10 18 20 12 20
40 GKM12-24 M12X1.25 12 48 12 23 24 15 24
50/63 GKM16-32 M16X1.5 16 64 16 29 32 19 32
80/100 GKM20-40 M20X1.5 20 80 20 33.5 40 24 40

D I M E N S I O N S

A N G L E D R E A R C L E V I S F O O T -  E

Diameter Model No Ød2 ØCK ØS5 K1 K2 13 G1 l1 G2 EM G3 CA H6 R1
32 E5032 11 10 6.6 38 51 10 21 7 18 26 31 32 8 10
40 E5040 11 12 6.6 41 54 10 24 9 22 28 35 36 10 11
50 E5050 15 12 9 50 65 12 33 11 30 32 45 45 12 12
63 E5063 15 16 9 52 67 14 37 11 35 40 50 50 12 15
80 E5080 18 16 11 66 86 18 47 12.5 40 50 60 63 14 15
100 E5100 18 20 11 76 96 20 55 13.5 50 60 70 71 15 19

D I M E N S I O N S

F L O AT I N G J O I N T -  J A  :  S T E E L ,  Z I N C C H R O M AT E P L AT E D

Cyl. Diameter Model No M A B C ØD E F G H P U Load (KN) Weight (g) Angular Deflection
32 JA30-10-125 M10X1.25 49.5 19.5 - 24 5 8 8 17 9 0.5 2.5 70 ±5
40 JA40-12-125 M12X1.25 60 20 - 31 6 11 11 22 13 0.75 4.4 160 ±5
50/63 JA50-16-150 M16X1.5 71.5 22 - 41 7.5 14 13.5 27 15 1 11 300 ±5
80/100 JAH50-20-150 M20X1.5 101 28 31 59.5 11.5 24 16 32 18 2 18 1080 ±5

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Courtesy of Steven Engineering, Inc.  ! 230 Ryan Way, South San Francisco, CA 94080-6370 ! Main Office: (650) 588-9200 ! Outside Local Area: (800) 258-9200 !  www.stevenengineering.com 



1.138 LI N E A R AC T U AT O R:  A I R CY L I N D E R

SE R I E S C95

FOR FURTHER TECHNICAL
DETAILS ON THIS
PRODUCT REQUEST
CATALOG REFERENCE
N306

D I M E N S I O N S

M O U N T I N G A C C E S S O R I E S

F O O T,  L C E N T R E T R U N N I O N ,  T

F L A N G E ,  F R E A R C L E V I S

Diameter E1 R W MF ZF ØFB CD EB L XD UB CB EW MR TR AO AT XA SA
32 48 32 16 10 130 7 10 65 12 142 45 26 26 9.5 32 10 4 144 142
40 55 36 20 10 145 9 12 75 15 160 52 28 28 12 36 11 4 163 161
50 68 45 25 12 155 9 12 80 15 170 60 32 32 12 45 12 5 175 170
63 80 50 25 12 170 9 16 90 20 190 70 40 40 16 50 12 5 190 185
80 100 63 30 16 190 12 16 110 20 210 90 50 50 16 63 14 6 215 210
100 120 75 35 16 205 14 20 140 25 230 110 60 60 20 75 16 6 230 220

Diameter AH ØAB I1 XV TL ØTD TM UW TF UF E2
32 32 7 18 73 12 12 50 49 64 79 50
40 36 9 22 82.5 16 16 63 58 72 90 55
50 45 9 24 90 16 16 75 71 90 110 70
63 50 9 28 97.5 20 20 90 87 100 120 80
80 63 12 34 110 20 20 110 110 126 153 100
100 71 14 40 120 25 25 132 136 150 178 120

Rea r  Moun t i ng

F ron t  Moun t i ng

Rea r  Ma l e  C l e v i s ,  C F ron t  F ema l e  C l e v i s ,  D

D I M E N S I O N S

P I S T O N R O D B A L L J O I N T -  K J :  S T E E L ,  Z I N C C H R O M AT E P L AT E D

Cyl. Diameter Model No d3 d1 h d6 b3 b1 1 d7 � 13 sw
32 KJ10D M10X1.25 10 43 28 10.5 14 20 19 13˚ 14 17
40 KJ12D M12X1.25 12 50 32 12 16 22 22 13˚ 16 19
50/63 KJ16D M16X1.5 16 64 42 15 21 28 27 15˚ 26 32
80/100 KJ20D M20X1.5 20 77 50 18 25 33 34 15˚ 26 32

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Courtesy of Steven Engineering, Inc.  ! 230 Ryan Way, South San Francisco, CA 94080-6370 ! Main Office: (650) 588-9200 ! Outside Local Area: (800) 258-9200 !  www.stevenengineering.com 



1.139LI N E A R AC T U AT O R: AI R CY L I N D E R

SE R I E S C95

FOR FURTHER TECHNICAL
DETAILS ON THIS
PRODUCT REQUEST
CATALOG REFERENCE
N306

ACCESSORIES

HOW TO ORDER

MOUNTING BRACKET

CYLINDER MODEL : C95❏32 C95❏40 C95❏50 C95❏63 C95❏80 C95❏100

TRUNNION MOUNTING BRACKET * MB-S03 MB-S04 MC-S04 MB-S06 MB-S06 MB-S10

MOUNTING PLATE (DOUBLE CLEVIS) MB-B03 MB-B03 MB-B05 MB-B05 MB-B08 MB-B08

* WHEN ORDERING TRUNNION MOUNTING BRACKET, ORDER 2 PIECES FOR 1 CYLINDER

ACCESSORIES

TRUNNION MOUNTING BRACKET

MOUNTING BRACKET MODEL BORE SIZE (MM)

MB-S03 32

MB-S04 40

MB-S04 50

MB-S06 63

MB-S06 80

MB-S10 100

ACCESSORIES

MOUNTING PLATE (DOUBLE CLEVIS)

MOUNTING PLATE MODEL BORE SIZE (MM)

E5032 32

E5040 40

E5050 50

E5063 63

E5080 80

E5100 100

ACCESSORIES

ROTATING ANGLE

BORE SIZE Aº Bº Aº+Bº+90º

32 • 40 25º 45º 160º

50 • 63 40º 60º 190º

80 • 100 30º 55º 175º

ACCESSORIES

HOW TO ORDER

ROD END NUT (STANDARD)

PART NUMBER BORE SIZE (MM)

NT-03 32

M12 X 1.25 (C95) 40

M16 X 1.5 (C95) 50 • 63

M20 X 1.5 (C95) 80 • 100

ACCESSORIES

HOW TO ORDER

PISTON ROD CLEVIS (DIN 71752)

PART NUMBER BORE SIZE (MM)

GKM10-20 32

GKM12-24 40

GKM16-32 50 • 63

GKM20-40 80 • 100

ACCESSORIES

HOW TO ORDER

SPHERICAL ROD EYE (DIN 648)

PART NUMBER BORE SIZE (MM)

KJ10 D M10 X 1.25 32

KJ12 D M12 X 1.25 40

KJ16 D M16 X 1.5 50 • 63

KJ20 D M20 X 1.5 80 • 100

ACCESSORIES

HOW TO ORDER

FLOATING JOINT

PART NUMBER BORE SIZE (MM)

JA30-10-125 32

JA40-12-125 40

JA50-16-150 50 • 63

JAH50-20-150 80 • 100

FOR DETAILED INFORMATION ON SERIES C95

ACCESSORIES, PLEASE REFER TO CAT:N306

GU I D E UN I T S F O R SE R I E S C95
AI R CY L I N D E R S
Ø32–100M M

Ba l l  Bu sh  and  S l i d e  Bea r i ng  Op t i on s
H igh  Re s i s t ance  t o  S i de  Load
H igh  Non -Ro ta t i ng  Accu r a c y
D i re c t  Moun t i ng  F a c i l i t y
S t roke  Ad ju s t i ng  Un i t  Op t i on

GUM (F)

20 ,  50 ,  80 ,  100 ,  125 ,  160 ,
200 ,  250 ,  320 ,  400 ,  500

S T R O K E

32 …ø32mm
40 …ø40mm
50 …ø50mm
63 …ø63mm
80 …ø80mm
100 …ø100mm

B O R E S I Z E

H O W T O

O R D E R

G U I D E U N I T S

S L I D E B E A R I N G T Y P E

GUL (F)

20 ,  50 ,  80 ,  100 ,  125 ,  160 ,
200 ,  250 ,  320 ,  400 ,  500

S T R O K E

32 …ø32mm
40 …ø40mm
50 …ø50mm
63 …ø63mm
80 …ø80mm
100 …ø100mm

B O R E S I Z E

H O W T O

O R D E R

G U I D E U N I T S

B A L L B U S H B E A R I N G T Y P E

NO T E:  PA RT NU M B E R I S F O R GU I D E UN I T O N LY, A P P L I C A B L E

BASIC TYPE C95 CYLINDER SHOULD BE ORDERED SEPARATELY.
PLEASE CONSULT SMC CANADA CUSTOMER SERVICE.

D I M E N S I O N S

S E E N E X T P A G E ☞

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Courtesy of Steven Engineering, Inc.  ! 230 Ryan Way, South San Francisco, CA 94080-6370 ! Main Office: (650) 588-9200 ! Outside Local Area: (800) 258-9200 !  www.stevenengineering.com 



1.140 LI N E A R AC T U AT O R:  A I R CY L I N D E R

SE R I E S C95

FOR FURTHER TECHNICAL
DETAILS ON THIS
PRODUCT REQUEST
CATALOG REFERENCE
N306

Diameter A B C D1 D2 D3 E2 E3 E4 F L0 L1 L2
32 12 12 74 m6 6 .6 11 33 78 61 4 45 92 50
40 16 15 87 M6 6 .6 11 38 84 69 18 55 112 58
50 20 19 104 M8 9 15 47 100 85 24 68 134 70
63 20 19 119 M8 9 15 57 105 100 20 80 148 85
80 25 22 148 M10 11 18 72 130 130 25 100 180 105

100 25 22 173 M10 11 18 89 150 150 30 120 206 13

D I M E N S I O N S ( M M )
C 9 5  G U I D E U N I T S

Diameter A B D1 D2 E F G H J Mini Add On Stroke
ø12/16 27 10 M10x1 M6 25 67 52 14 34 37
ø20/25 35 .5 12 M14x1 .5 M8 41 82 64 17 44 48

ø32 35 .5 15 M14x1 .5 M8 51 95 78 17 53 51
ø40 45 20 M20x1 .5 M10 59 114 87 25 62 65
ø50 45 25 M20x1 .5 M10 72 135 98 28 68 70
ø63 45 25 M25x1 .5 M10 86 150 118 28 88 70

ACCESSORIES - DIMENSIONS

AUTO SWITCH MOUNTING BRACKET

CYLINDER SERIES C95

An auto switch mounting bracket will be added
on the tie rod mount part to keep the
accessibility of the screw to adjust the auto
switch position.

PRECAUTIONS:
Minimum cylinder stroke
Cylinders ø32 up to ø63 Minimum stroke:25mm
Cylinders ø80, ø100 Minimum stroke: 50mm

A minimum length will have to be added on for stroke adjusting unit. (mm)

Diameter L3L L4 L5 L6 L7 L8 L9     M        P                S
32 97 147 120 64 20 60    102    6 . 5     12     M10x1 .25
40 116 167 125 81 25 63    127     6       12     M12x1 .25
50 137 195 140 94 25 70    134     9       16 M16x1 .5
63 152 195 160 94 25 75     145     9       16 M16x1 .5
80 189 241 195 114 30 89 157    11      20 M20x1 .5

ACCESSORIES

HOW TO ORDER

AUTO SWITCH MOUNTING BRACKET

Diameter Cylinder Minimum Stroke Part Number
(mm) (mm) Tie Rod Mount Part

Auto Switch Mounting Bracket
32 25 BT-03 SFX415
40 25 BT-03 SFX415
50 25 BT-04 SFX415
63 25 BT-04 SFX415
80 50 BT-06 SFX416
100 50 BT-06 SFX416

C95 Series
VDMA 24562

Note) Add on a bracket for auto switch tie rod mounting type on
Cylinder Series C95 in order to control Extended Cylinder Position.

ACCESSORIES

HOW TO ORDER

STROKE ADJUSTING UNIT (Ø12 UP TO Ø63)
Diameter Cylinder Guide Rod Part Number
(mm) Length Shock Absorber Stroke Adjusting Unit
32 C95 RBC1412 SFY(F)133
40 Series RBC2015 SFY(F)134
50 VDMA RBC2015 SFY(F)135
63 24562 RBC2015 SFY(F)136
- With Adjusting Bolt
- With One Shock Absorber (Order Separately)

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Courtesy of Steven Engineering, Inc.  ! 230 Ryan Way, South San Francisco, CA 94080-6370 ! Main Office: (650) 588-9200 ! Outside Local Area: (800) 258-9200 !  www.stevenengineering.com 




